





$$\begin{aligned} \begin{array}{c} c_{v} \ 0 \ -2 \ -6 \ \dots \ -\ell(\ell+1) \ (\ell=0,1,2,\dots) \\ m_{v} \ 0 \ 0, \pm 1 \ 0, \pm 1, \pm 2, \dots, \pm \ell \end{aligned} \\ \hline \textbf{I} = new \ quantum \ number \\ \hline \textbf{I} = new \ quantum \ number \\ \hline \textbf{C} \in \theta \ \frac{d}{d\theta} \left( \sin \theta \ \frac{d\Theta(\theta)}{d\theta} \right) - m_{v}^{2} \csc^{2} \theta \ \Theta(\theta) = \boxed{-\ell(\ell+1)} \Theta(\theta) \\ \hline \Theta_{cm}(\theta) = \boxed{p_{c,mn}(\cos \theta)} \ \left( \begin{array}{c} \ell = 0, 1, 2, \dots \\ m_{v} = 0, \pm 1, \pm 2, \dots, \pm \ell \end{array} \right) \\ \hline \textbf{Legendre Polynomials} \\ \hline \textbf{L} = m_{\ell} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = pojection \ of \\ angular \ momentum \\ \hline \textbf{L}_{z} = m_{\ell} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = \sqrt{L^{2}} = \sqrt{\ell(\ell+1)} \hbar \quad (\ell = 0, 1, 2, \dots) \\ \hline \textbf{L} = \sqrt{L^{2}} = \sqrt{\ell(\ell+1)} \hbar \quad (\ell = 0, 1, 2, \dots) \\ \hline \textbf{L} = \sqrt{L^{2}} = \sqrt{\ell(\ell+1)} \hbar \quad (\ell = 0, 1, 2, \dots) \\ \hline \textbf{L} = \sqrt{L^{2}} = \sqrt{\ell(\ell+1)} \hbar \quad (\ell = 0, 1, 2, \dots) \\ \hline \textbf{L} = \sqrt{L^{2}} = \sqrt{\ell(\ell+1)} \hbar \quad (\ell = 0, 1, 2, \dots) \\ \hline \textbf{L} = \sqrt{L^{2}} = \sqrt{\ell(\ell+1)} \hbar \quad (\ell = 0, 1, 2, \dots) \\ \hline \textbf{L} = \frac{me^{4}}{2(4\pi c_{0})^{2} \hbar^{2}} \frac{1}{\pi^{2}} \quad (n = 1, 2, 3, \dots) \\ \hline \textbf{L} = \sqrt{\ell(\ell+1)} \hbar \quad (\ell = 0, 1, 2, \dots) \\ \hline \textbf{L} = \sqrt{\ell(\ell+1)} \hbar \quad (\ell = 0, 1, 2, \dots) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = \sqrt{\ell(\ell+1)} \hbar \quad (\ell = 0, 1, 2, \dots) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{\ell} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{r} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = m_{r} \hbar \quad (m_{r} = 0, \pm 1, \pm 2, \dots, \pm \ell) \\ \hline \textbf{L} = m_{r} \hbar \quad$$









$$\begin{split} E &= E_{\rm i} - E_{\rm f} \\ &= \left[ -\frac{me^4}{2(4\pi\epsilon_0)^2\hbar^2} \frac{1}{n_{\rm i}^2} \right] - \left[ -\frac{me^4}{2(4\pi\epsilon_0)^2\hbar^2} \frac{1}{n_{\rm f}^2} \right] \\ &= \frac{me^4}{2(4\pi\epsilon_0)^2\hbar^2} \left( \frac{1}{n_{\rm f}^2} - \frac{1}{n_{\rm i}^2} \right) \end{split}$$
  
For a photon,  $E = hf = hc/\lambda$ . Therefore,  
 $\frac{hc}{\lambda} &= \frac{me^4}{2(4\pi\epsilon_0)^2\hbar^2} \left( \frac{1}{n_{\rm f}^2} - \frac{1}{n_{\rm i}^2} \right)$   
or  
 $\frac{1}{\lambda} &= \frac{me^4}{2(4\pi\epsilon_0)^2\hbar^2hc} \left( \frac{1}{n_{\rm f}^2} - \frac{1}{n_{\rm i}^2} \right) \\ &= 1.097 \times 10^7 \text{ m}^{-1} \left( \frac{1}{n_{\rm f}^2} - \frac{1}{n_{\rm i}^2} \right) \end{split}$